Thu Sep 23 Announcements

» Labs are happening today up to next Tuesday

» Updated notes are available



Assigment Updates

» Check news group for updates to assignments

» Deep-member question

» Description specifies an "atom’ be matched
» Examples include non-atom structures
> Please treat argument as general s-expr, not atom

» Satisfiability Questions has incorrect definition of degenerate
cases:
» implicitly: aA b= aA b A and since ) should not affect the
value of a conjunction, it must be true
» implicitly: aVv b=aV bV () and since ) should not affect the
value of a disjunction, it must be false



